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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

N 7052477777/7052577777









Q:-1 - What is the value of 13% 4+ 18% + 8

3 = 9
4

(a) 3/7

(b) 40 3/7

OREREE
(d) 52 7/36




Q:-1 - What is the value of 13% 4+ 18% + 8

(a) 3/7

OREREIE
(d) 52 7/36




Q:-2- What i the value of 8 + 6- -3; —

(a) 9 35/41
(b) 6 41/45
(c) 1/11

(d) 6 23/45




Q:-2- What is the value of 8 + 6- -3; —

(a) 9 35/41

(c) 1/11
(d) 6 23/45




_ | 2 3 4 5 6 _
Q:-3- 999;+999 = +999 - +999 - +999 - +999 A ?

(a) 5997
(b) 5993
(c) 6000
(d) 4693




Q:-4-(1-3) (1-3) (1-7) (-9) (=) v (1-1) = ?

(a) -

(b) ==

(c) >

(d) =




(1-7) =2

(b) =

(c) =

(d)




Q:-5- Find the value of (27)%° + (64 )3
(27)23 + (64 )43 FT T AT T

(a) 6

(b) 9/256

(c) 8/56
(d) 2304




Q:-5- Find the value of (27)%° + (64 )3
(27)23 + (64 )43 FT T AT T

(a) 6

(b) 9/256

(c) 8/56




Q:-6- Find the value of 72 x 492 = 7X x 343
(a) 6
(b) 3

(c) 5
(d) 4




Q:-6- Find the value of 72 x 492 = 7X x 343
(a) 6

(c) 5
(d) 4




Q:-7- Find the value of 83+ 16 x 32 = 2x4 + 42
(a) 18
(b) 17

(c) 14
(d) 8




Q:-7- Find the value of 83+ 16 x 32 = 2x4 + 42

(b) 17

(c) 14
(d) 8
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Q:-9- —
€)) 9/11
(b) 10/11

(c) 1/11
(d) 7/11




1

Q:-9- -
(a) 9/1 1

(c) 1/11
(d) 7/11










Q:-11- Simplify the following expression.

Feferierd s4steh &l T4 hifolu?

107X107X107—93X93X93
107X107+107X93+93X93

(a) 16
(b) 12
(c) 14
(d) 16




Q:-11- Simplify the following expression.

Feferierd s4steh &l T4 hifolu?

107X107X107—93X93X93
107X107+107X93+93X93

(a) 16
(b) 12

(d) 16




Q:-12- A man has some hens and cows. |If number of
heads is 48 and number of feet is 140, then the number
of hens will be?

T SATEHT o IT9 Foeg GHIAT 3 T g1 Tia T 6t 9ear 48
g ST T =T |eAT 140 g, a1 FRIAT T HE&AT g2

(a) 26
(b) 22
(c) 24
(d) 26
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Q:-12- On children's Day, sweets were to be equally
distributed amongst 250 children. But on that particular
day 50 children remained absent; hence each child got
one extra sweet. How many sweet were distributed?

T feaq 9< 250 g1 § 9919 €9 9 a1 aidt St o

AT 39 o7 50 9y SAqUTRAd T ST T 9 1 U
FTats e et Frae e ard?

(a) 800
(b) 1000
(c) 1200
(d) 900




Q:-12- On children's Day, sweets were to be equally
distributed amongst 250 children. But on that particular
day 50 children remained absent; hence each child got
one extra sweet. How many sweet were distributed?

T feaq 9< 250 g1 § 9919 €9 9 a1 aidt St o

AT 39 o7 50 9y SAqUTRAd T ST T 9 1 U
FTats e et Frae e ard?

(a) 800

(c) 1200
(d) 900







